
 

1. Simplify 
a. (3𝑠ଶ − 𝑠 + 2) + (6𝑥ଶ − 4𝑠 −

3) 
b. (2𝑦ଶ − 4 − 3𝑦) − (7 − 6𝑦 +

4𝑦ଶ) 
c. (4𝑚 − 3𝑚ଶ + 4) − (𝑚ଶ + 3 −

2𝑚) + (1 − 5𝑚 + 2𝑚ଶ) 

d. 6(2𝑦 + 3) − 4𝑦 
e. −3(𝑚ଶ + 3𝑚) + 5𝑚ଶ 
f. 2𝑠(4𝑠ଶ − 7) 
g. 5𝑝ଶ(−2𝑝𝑞 + 4) 
h. 3(5𝑚 − 7) − 12 

2. Find the product 
a. (𝑥 + 4𝑦)(4𝑥 + 2𝑦) 
b. (3𝑠 − 5𝑟)(2𝑠 − 𝑟) 
c. (2𝑎 + 𝑏)(𝑎 − 3𝑏) 
d. (5𝑓 − 4𝑔)(𝑓 + 3𝑔) 
e. (4𝑧 − 3)(4𝑧 + 3) 

f. (3𝑏 + 5𝑐)ଶ 
g. (𝑦 − 2)(𝑦 + 1) + (2𝑦 +

3)(3𝑦 − 2) 
h. (5𝑝 + 3𝑞)(2𝑝 + 2𝑞) −

(4𝑝 + 𝑞)ଶ 
3. Factor fully 

a. 6𝑥ସ − 2𝑥ଶ 
b. 14𝑝ସ + 21𝑝ଶ + 35𝑝ଷ 
c. 𝑛ଶ − 𝑛 − 6 
d. 𝑥ଶ − 5𝑥 + 4 
e. 𝑏ଶ − 16𝑏 + 39 
f. 𝑑ଶ − 17𝑑 + 52 
g. 𝑝ଶ − 11𝑝 − 42 
h. 2𝑛ଶ − 12𝑛 + 16 
i. 4𝑠ଶ + 16𝑠 − 128 

j. 3𝑎ଷ + 24𝑎ଶ + 45𝑎 
k. 6𝑥ଶ + 14𝑥 − 12 
l. 14𝑎ଶ + 𝑎 − 3 
m. 15𝑠ଶ + 4𝑠 − 32 
n. 9𝑚ଶ − 4 
o. 16𝑠ଶ − 1 
p. 4𝑝ଶ − 25𝑝ଶ 
q. 𝑥ସ − 81 

4. Simplify and state any restrictions 

a. ଵହ௫మିଵଶ௫

ଷ௫
 

b. ଶ௫మିଵଶ௫

ି(௫ି଺)
 

c. ௠మାଶ௠ିଵ

௠మିହ௠ା଺
 

d. ௥మାଶ௥ିଶସ

௥మାଷ௥ିଵ଼
 

e. ௫ିହ

௫మାହ௫ା଺
÷

௫మିଶ௫ିଵହ

௫ିଷ
 

f. ௔మିସ

௔మି଺௔ା଼
×

(௔ିସ)మ

௔మାହ௔ା଺
 

5. Simplify 
a. ଷ௫ିହ

ହ௫
−

ଶ௫ିସ

ହ௫
 

b. ଶ௣ାଷ

ଷ௣
+

௣ାଵ

ଶ௣
 

c. ଷ

௫ାଷ
+

ଶ

௫ିସ
 

d. ଶ௫

௫ିଵ
−

ଷ௫

௫ିଶ
 


